N & 0l & AF S & M M

20208 & =0l & LBHSIH AT AR A
SN ASTAYL
HE: o= 2 OFX 33
SR 2t01 S=AIE 2t (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AT AN A 5,358,602 3,800,602 1,558,000
< 420,000
Al 4,938,602
= 2 UHEA B 642,602 45,602 597,000
< 420,000
Al 222,602
201 S=AlE 22| 642,602 45,602 597,000
< 420,000
Al 222,602
AR AlE 22 35,532 36,532 A 1,000
201 Let24E] 7,460 8,460 A 1,000
01 At 22l 2,900 3,900 A 1,000
Odzx S=ZAAH(BHI] ZAH)
50,000 * 1/2 = 8 * 23| 400
OF% AHAH(H2, 2T, BHI])
500,0009 * 1/2 = 10002 2,500
02 2324l 4,560 4,560 0
OAUIOI0tE Ot 23 &=
380,000& * 123l 4,560
202 044l 972 972 0
01 SLHOIYI 972 972 0
OARE=EANE =ZHA 22
81,000& = 2 * 2& * 33 972
206 M= Hl 2,100 2,100 0
01 MHZ 8l 2,100 2,100 0
OASUHE 7Y (UNRLBSASY)
9,000& = 100 900
Oasd FY(2=2223)
100,000& * 48+ A 400
O2ALETAE RX 22 (MM 7 S) 800
401 AIEHI L 2 CHEI 25,000 25,000 0
01 A& Bl 25,000 25,000 0
OAREZaT AL 22 L FHI(8) 25,000
Q== SsA4E FHl ¥ 22 7,070 9,070 A 2,000
201 ¢er24| 1,200 1,200 0
02 =224l 1,200 1,200 0
OH==2=sA4d #JIe3 100,000& * 128 1,200
206 M= Hl 1,870 1,870 0
01 MHZ 4l 1,870 1,870 0
OYHEESSANE RX 22(MHM 7 S)
170,000& * 112K 1,870
401 Al HIZ 201 8] 4,000 6,000 A2,000




SN METAYL
By ol 2 O¥N 23
SR 2t01 S=AIE 2t (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 A& HI 4,000 6,000 A 2,000
OH=SESAlE 22l ¥ F|
1,000,000& * 400 2 4,000
L2EFEANE HSAMY 600,000 0 600,000
< 420,000
Al 180,000
401 Al HI K 201 I 600,000 0 600,000
< 420,000
Al 180,000
01 A& HI 600,000 0 600,000
OLRABESTAE HSA (10HA) 600,000
< 420,000
Al 180,000
HWRas (=T Add) 4,716,000 3,755,000 961,000
HEAHHK = 4,716,000 3,755,000 961,000
LHEHeH X = 4,716,000 3,755,000 961,000
701 JIEtSI HSEES 4,716,000 3,755,000 961,000
03 BIILELENHMNENES 4,716,000 3,755,000 961,000
=7l 2,400,000
Os0HE M8 L (SHADIOIS &= U
3 M 593,000
Ogel, €228+% MHEMH 1,303,000
O AL 2 B3N 8=3 420,000




